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PART-AEXAMINATION

QUESTION PAPER FOR THE POST OF Senior Technician ECE and CE
(PAYLEVEL 4)

Maximum Marks: 50 Time: 1 Hour

Name of Candidate: Roll No: _
INSTRUCTIONS TO CANDIDATES

1. This question paper has 50 questions. Each question carries one mark. There are four choices for answer
(A, B, C, D) to each question. Choose the correct answer (one only) for each question and write the
answer in the space provided against each question.

2. Candidate must write Name, Roll No. and sign on each page of this booklet.
3. The candidate should check that the booklet does not have any unprinted or tom or missing pages or

questions etc. If so, get it replaced with another question paper, before question paper starts.
4. One (1) mark will be awarded for each correct answer. There will be negative marking and (- Jf4) mark

will be awarded for each incorrect answer.
5. The unanswered questions will not attract negative marking
6. Return the Question Paper cumAnswer Sheet to the invigilator after the examination is over.
7. Mobile, Electronic Watch and other Electronic Gadgets are prohibited in the examination.
8. There should not be any cutting or overwriting in the Answer.
9. Use of Unfair Means in Examination will lead to cancellation of candidature.

~~~~
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Q.No. Question Ans

2 Two pipes can separately fill a tank in 20 hrs and 30 hrs respectively. Both the pipes 0
1

3 Praveen, Sunny, and Ashu start a business. Twice the capital of Praveen is equal to C
thrice the capital of Sunny and Sunny's capital is four times Ashu Bhati's capital. Find
the Sunny's share if the total profit earned is 297000.

The difference between simple interest and compound interest on a sum of money for C
1 year at 4% per 6 months is 4, what is the sum?

A. Rs. 2100
B. Rs.2300
C. Rs.2500
D. Rs. 3000

fu5m 1:RUfu ~ 1crf"$ ~ 4% ~ 6 ~ cf5I ~ 'B 'ffi1:m1JT ~ 3Th: il¢CJ_ fiG ~"$ ~
q)f ~ 4 t%umCFIT%?

A. ~. 2100

B. ~. 2300

C. ~. 2500

D. ~. 3000

are opened to fill the tank but when the tank is 3 full, a leak develops in the tank
1

through which 3 of the water supplied by both the pipes per hour leak out. What is
the total time to fill the tank?
A. 12 hrs.
B. 14 hrs.
C. 18 hrs.
D. 16 hrs.

GJ~~~cpl3lWT-3lWT~: 20 m 3Th: 30 mif1R~tl ~cpllfB"$~c:f.ff
1

~ ~ ~ t~ ~ ~ 3 1R \IffilT t ill~ if ~ fu:nq ~¢m(i 6trr % ~
1

l1TUfI1'B c:f.ff~ &:m ~ m~ ~ TR L1ffi q)f 3 ~ ~ \IffilT % I ~ cpllfB
if ~ fcP<:RT ~ WRIT %?
A.12m

B.14m

C.18m

D.16m

11CfiuT, tAT 3Th: ~ ~ ~ cH"l1<1 ~ ~ t I 11CfiuT cf5I <FIT q)f cJlJrr tAT cf5I <FIT "$ ~ "$
~ %3Th: tAT cf5I <FIT ~ 1fTit cf5I <FIT q)f ~ lJ1T %I ~ ~ ~ ~ 297000 %ill
tATq)f fumr ~~I

A. 107000
B. 109000
C. 108000
D. 115000
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4 The present ages of Arun, Sunil, and Vivek are in proportions 4:7:9. Before eight D
years, the sum of their ages was 56. What are their present ages in years? A.
Insufficient Data
B. 16,30,40

I
C. 16,28,40
D. 16,28,36

I

I :m;ur, ~ 3fu~~~ 3Wl4:7:9 ~ ~-q"tl 3Wi~~, ~ 3Wlcpr<irT

56 m I ~ ~ 3Wl qt;ff -qCFIT"t?
A.~~

I B. 16,30,40
I C. 16,28,40

D. 16,28,36

,5 If it was Wednesday on March 1, 2006, which day was it on March 1, 2002? B
A. Tuesday
B. Friday
C. Monday
D. Sunday

I
~ 1~ 2006 cg~ m, cIT 1~ 2002 cg~m"fu1 m?

I A. &OJ IIc'iCm
I B.~I

C. ~
D."@rcm

6 A boat covers 12 km upstream and 18km downstream in 3 hours while it covers 36km 0

I
upstream and 24 km downstream in 13/2 hours, what is the velocity of the stream?

~ ;nq 3 eft -q 12 fcpJft 1:ffiT ~ I'lf8 ~C'1 3fu 18 fcpJft 1:ffiT ~ ~ (f<:f CI5«ft "t ~ <:f5

I 1312 eft -q 36 fcpJft 1:ffiT ~ I'lf8 ~C'1 3fu24 fcpJft um~ ~ (f<:f ~ t um cprWT CFIT

"t?
A. 1.5km/hr
B. 2kmlhr

I
C. 3km/hr
D.2.5km/hr

17 What is the angle between hour hand and minute hand of a clock at 3.30? C

3.30 ~ ~ trtT -qeft ~ ~ 3fu~ ~ ~ ~ ~ cprcpluyCFIT"t?

A.65°
B. 70°
C. 75°
D.80°

8. The tops of two poles are connected by a wire. The heights of the poles are 10m and C
14 m respectively. If the wire makes a 30° angle with the horizontal, find the length of
the wire?

GJ ~ ~ ~ ~ OR # '¥ ~ -gl ~ ~ ~~: 10 -qm 3fu 14 -qm"tl ~ OR

~# 30° cprcpluy~t cITOR~ ~~~?
A.7m
B.7.5m
C.8m
D.8.5m
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9 Naresh's monthly income is reduced by 15%. By what percentage his monthly income 0
must be increased so that it is again equal to his original monthly income?

~ cf5I ~ 3Wf 15% cpq it \JfRft ~ I ~ ~ 3Wf -q ~ ~ cf5I ~ cf5I \If"RT
\

~m~mB~~~3Wf"$~it\ifflZ?
A. 16.6%
B.15.6%
C.14.6%
0.17.6%

10 Suresh bought a cell phone from a shop. If he sells it at Rs. 8400 to Mahesh and earns 0
a profit of 12%, find the price at which Suresh bought the cell phone.
A. Rs.7100
B. Rs.7250
C. Rs.7350
D. Rs.7500

~ ;f ~ ~ B ~"ffi<f 1:fiT;:r ~ I ~ Cl6~ ~ cg 8400 m -q ~ ~ 3fu: 12%
q)T (fflll cpqRfT~, illCl6~ ~ ~ ~ ~ ~;f ~ 1:fiT;:r ~ I

A.7100m

B.7250m

C.7350m

D.7500m

11 An alloy has copper and zinc in the ratio of 6:3 and another alloy has copper and tin in B
the ratio of 8:6. The equal weights of both the alloys are melted to form a new alloy.
What will be the weight of tin per kg of the new alloy?

A.4/14kg
B. 3/J4kg
C. 3/12kg
D.2/IOkg

~ fq~ 1:TTQ-q ~ 3fu: \iffiIT q)T ~ 6:3 ~ 3fu: ~ fq~ 1:TTQ-q ~ 3fu: ftr q)T ~

8:6 ~ I <fr;IT fq~ 1:TTQ3IT"$ ~ C!\IR" cg fqtlCtil¢{ ~ W fq~ 1:TTQ~ \IfRff ~ I ~ fq~
1:TTQ"$ >ffir f¢Ct'tI !11101 ftr q)T q\l'R"CFITiMT?

A.4114Q
B.3/14Q

C.3112Q
D.2/10Q
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12 Statement I. Five new hospitals are opened in Noida this year. C

Statement II. There is a considerable reduction in the number of dengue cases in
Noida.

A. Statement II is the cause, and statement I is its effect
B. Statement I is the cause, and statement II is its effect
C. Both the statements are effects of independent causes
D. Both the statements are effects of some common cause

c:p~ I. ~~~-q-qfu~ ~~~-gl c:p~ II. ~-qq~~~~
-q~cpqr~tl
A. c:p~ II q5"RUTt 3fR c:p~ I ~ 11lWft
B. c:p~ I q5"RUTt 3fR c:p~ II ~ 11lWft
C. cJ;ff c:p~ ~ ~ ~ 11lWft
D. cJ;ff c:p~ ~ ~ q5"RUT ~ 11lWf-g

13 Duck: Cricket:: Dunk:? 0
A. Football
B. Snooker
C. Rugby
D. Basketball

ScP' ~ .. -gc:p.?. ....
A.~

B.~
C.~

D. ~1~c:~TC"l

14 Pointing to a photograph of a woman Rohan says, "She is the sister-in-law of the only B
daughter of my mother-in-Iaw's husband." How is the Rohan related to the woman?

A. Son
B. Brother
C. Brother-in-law
D. Father

~ ~ ~ ~ ~ amm~ Stz rn %(IT t ,,~itft t:rrn ~ %t ~ $Cf.lC1111"j itiT
~lWfttl" rn"Cf.lT"3tl~~CFn"~t?
A.W:r

B.1fTt

C.~

D.m-
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15 Suresh left home and walked 5 km towards the south; turned right and walked 2.5 km D
and turned right and walked 5 km and turned left and cycled 5 km. How many '*kilometers will he have to walk to reach his home straight?

A. 15 km
B. 10 km
C.5km
D. 7.5 km

~ m ~ R¢C1¢{ ~aTUT ~ 3ffi 5 fcp(fl14k{ 1:fC1T; ?JIZ ~ 2.5 fcp(fllIiIG{ 1:fC1T, ?JIZ ~
5 fcpc<1"IIiIG{1:fC1T,m~~ 5 fcp(fllIiIG{ fll!$fcpC1 ~I met 31LRm~"$~~
~ fcp(flIiOJlG{ :qc;fIT6Trrr?

A. 15 fcp(fl"i41G{

I
B. 10 fcp(flllil G{

C. 5 fcp(fllii'k{

D. 7.5 fcp(fllqjG{ \

16 If HAT is coded as 8120, how is BAN coded in this code? B
A. 2124
B.2114
C. 2021
D.2020

<:rfu HAT cit 8120 "$~ -q ~ fuxrr Tf<:fT t it~ ems -q BAN cit ~ ~ fuxrr
~?
A. 2124
B. 2114
C. 2021
D.2020

17 Statement: Be humble even after you won a game! B
Assumptions:
I. People are generally humble after being victorious.

II. People are generally not humble after being victorious.

A. Only I is implicit
B. Only II is implicit
C. Either I or II is implicit
D. Neither I nor II is implicit

18 Find the missing numbers in the series, 4, 20, 7, 14, 10,8, 13, _,_ C

~-q~~~~,4,20, 7,14,10,8, 13,_,_.

A.2,18
B.2,14
C. 2, 16
0.2,15

I
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I Which of the answer figures should be placed in the problem figure D(?) to complete D
the series?

~cpl~cpB*~~m3rR ~cpl~ ~ D(?) -qW:IT~~
I .
I ~ 3lIfff8l1T:

I

Problem figures:

?

C

/
D.A. B

Answer figures:

1
1. 1
2. 2
3. 3
4. 4

2

20 Statements:

I) All boots are slippers
II) No slipper is a shoe
III) All shoes are caps

Conclusions:

I. Some boots are caps.
II. All slippers are boots.
III. Some caps are slippers.
IV.All boots are slippers.

1. Only I follows
2. Either I or II or III follows
3. Only IV follows
4. I, II and III follow

3 4
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Spot the error in following sentence: B

R hi R1 ffiI \1 CllCFf it ~ m:
Hardly (l) Ricky had reached (2) the platform (3) when the train started (4).

21
A.l
B. 2
C.3
D.4

Choose antonym of the given word: Loquacious C

~"T"fQ; ~ CI3T~ ~~: Loquacious

22
A. Garrulous
B. Rambling
C. Reticent
D. Verbose

Choose synonym of the given word: Throng D
~"T"fQ; ~ CI3T"BllRT~~~: Throng

23 A. Annoying
B. Irksome
C. Dupe
D. Mass

After the heavy rain, I heard the ............ ofthunder. C

A. voice
24 B. clank

C. rumble
D. ripple

Find the correctly spelled word from below options: A

~ ~"T"fQ; ~ Cf5CfCll· it"B"@ q#:ft" c:rrc<IT ~ ~:
25 A. Tranquilizer

B. Tranquelizer
C. Tranquilizor

I D. Tranqulizer

An unexpected piece of good fortune or an unexpected gain is _ A

26 A. Windfall
B. Treasury
C. Turnstile
D. None of the above

"Bandy words" means: D

127
A. to praise someone
B. to treat someone badly

I
c. to irritate someone
D. to argue pointlessly with someone
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31

CChange the voice of the sentence:
~ Cf5TCfTCFf Cf5T~:

28 The children playing in the street broke my glass window.
A. When playing in the street my glass window was broken by the children.
B. My glass window broken by the children when playing in the street.
C. My glass window was broken by the children playing in the street.
D. My glass window broken by the children playing in the street.

Change the speech of the sentence:

29 The little girl said to the mother, "Why do you work so hard?"
A. The little girl told the mother why you work so hard.
B. The little girl wanted to know why her mother worked so hard.
C. The little girl asked the mother why you worked so hard.
D. The little girl asked the mother why she worked so hard.

D

The children went to the zoo and saw __ kangaroos.

A. the
30 B. a

C. an
D. none of the above

A

A. Control sequencer
B. M-D-R
C. M-A-R
D. Floppy disk

~--~----------------------------------------------------------~------__-----
A hard disk drive can be directly connected to a PC via a .
A. SCSI interface
B. Parallel interface
C. WAN interface
D. USB interface

Which of the following is not one of the internal components of a CPU?

32 ~ ~ m ~ em~ tffi:fT # tftc} __ ~ l=fTUr11#~ \ill ~ t I
A.SCSI~

B. ti4l'iii"H~

C.WAN~

D.USB~

D

A
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,BA spreadsheet is the best application for _
A. Writing an information
B. Handling simple accounts
C. Producing a grid-referenced map
D. Keeping an inventory of equipment used

4ls~nl $~~~~~I

A.~~
B.mc1~~~

c.fu-~~~
D. ~fcplz~dq<${oi"~~~

33

The speed of a modern printer is generally measured in _
~ W~ TTfrr 3W1~ tR "if llTtIT \ifRfT ~ I

B

34 A. LPS
B. PPM
C. PPS
D. DP1

The cache memory works between _
A. ROM and CPU
B. RAM and ROM
C. CPU and RAM
D. Random and secondary memory

C

35

A. ROM 3fu CPU

B. RAM 3fu ROM

C. CPU 3fu RAM

D.~3fu~~

Which of the following is twice the size of A4 paper? B

R hi fc;j ~ (1 "if"R CI511mA 4 1ttR$31T<$R "<$T*~?
36 A. A2

B. A3
C. A5
D.A8

_ is the programming language used to write a Macro in MS Excel. A

37 A. Visual basic
B. C+
C. Java
D.C++

__ is the correct syntax of IFO Function.
_IFO ~"<$T"Bit mtm~I

B

38 A. =IF (logical_test, TRUE([value_if_true]), FALSE([value_if_false]))
B. =IF (logical_test, [value_if_true], [value_if_false])
C. =[F (logical_test, {[value_if_true]}, {[value_if_false]})
D. =IF (logical_test: [value_if_true], [value_if_false])
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What is the default file extension used by Excel 2016 and later versions? B
Excel 2016 3fu~~ fiW>{OII·GRT~~~cm<IT~~ tzCR1bl1CFIT~?

39 A.. xls
B .. xlsx
C.. xlsm
D.. xlsb

In Excel, which function returns the current date and time? B
~if~m~~~3fu~~~

40 A. TODAYO
B.NOWO
C. DATEO
D. TIMEO

What is the pH value of the human body? B
lfRCT ~ cpr pH l1R CFIT~?

41 A. 9.2 to 9.8
B. 7.0 to 7.8
C. 6.1 to 6.3
D. 5.4 to 5.6

Which ofthe given devices is used for counting blood cells? C

f.rq if ~ ~ m dQCl'5{OI«@ ($",W'Cl'5Fif~ fi'R"fIT ~ ~ ~ ~ \ifRIT~?

42 A. Hmelethometer
B. Spyscometer
C. Hemocytometer
D. Hamosytometer

Digestion of food in human beings begins in which part of the alimentary canal? C
A. Liver
B. Kidney
C. Mouth
D. Large intestine

43 ~ ~ ~ if ~ cpr -qrq.:r 31TW~ ~ FcPtr1fTlT ifmtqmrrr~?

A.ffltcn:
B. ~

C. ~

D. ~3ffif
Which of the given vitamin is a water-soluble vitamin? B

fu:t:1:TJlZ ~GIM11·if~~m\rlcffif EJ)«H~f)M ~GIM1~?

44 A. Vitamin A
B. Vitamin B
C. Vitamin K
D. Vitamin D
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Which international player was announced as the winner of ICC Men's OD! B
Cricketer of the Year 2023?

A. Babar Azam
B. Virat Kohli
C. Keshav Maharaj
D. Usman Khwaja

Where was the seventh session of the International Solar Alliance held?

45

A. New Delhi
B. Chennai
C. Bhopal
D. Hyderabad

A ,

3ji"Hhflll tfn:~ q3"p:mrcrr tBr ~ 3iI~IM('1~ TTm?
A.1t~ B. ~ C. ~ D. gC;{lcillC;

B46 Which type of soil is required for growing cotton crops?

A. Alluvial Soil
B. Black Soil
C. Laterite Soil
D. Red Soil

cpqffi~~m~~~w.pTFg~~ 3iICl~ll¢('11mcrr-g-?

A.~~
B.~~

C.~~

D.~~

47 Which of the following is a primary source of indoor air pollution?
A. Volcanic eruptions
B. Automobile emissions
C. Tobacco smoke
D. Deforestation

RY R1~('1 if 'R 'cpt-nIT~sTFn~ ~ cgm~ ~-g-?

A. ~ 1MI'j&1 fcR:xitc:
-.,., ~

B. 3iRI"'tlcill$M -.j<:t1\J1"1

c.~cg~
D. q;ff ~ CRTt

48

~ 3j('1HI~l11~MI$l '45T ICC ~ m~ ~ c;: ~ 2023 cg ~ ~ ~
TTm?

A. ~3ThSfl1

B.fcm?:~
C.~~

D.~~

C
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49 I Who is the current chairman of the Indian Space Research Organisation (ISRO) as of,' A
I June 2024? :
A. S. Somnath I
B. K. Sivan
C. Ashwini Vaishnav
O. G. Madhavan Nair

~ 2024 (1cp llffifI<:r ~aT ~ WTo.r wffi) ~ ~ 31UfaT~ ~
A.l:ffi.~
B.~. fi'rcR
C. 31f'sa;IT ~
O. \i'It. lTI1:lCR~

50 National Unity Day is celebrated in India on October 31 every year, to commemorate C
the birth anniversary of which leader?

A. Mahatma Gandhi
B. Jawaharlal Nehru
C. Sardar VallabhbhaiPatel
O. Dr B RAmbedkar

'Iffi(f it ~ ~ 31 ~ cpl.~ Wrn~ ~ci5t ~ ~ ~~ it lff[<:IT \iffiIT t?
A. ~ l'"fhlt B. \l1qIEi@Ii:"!~ C.mGJCq(Y~flNJt ~ O. sT. ~ am ~
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